8 7 6 ' 4 3 2 NEXT ASS Y. 1F\NAL ASS Y ‘
NOTES:
| INTERPRET DIMENSIONS AND TOLERANCES PER ANSIT YI4. 5M
'I 2. DIMENSTONS ARE IN [INCHES H
3. DIMENSTONS APPLY AT ROOM TEMPERATURE. OPERATING TEMP &0 K
4. GEOMETRY IS DEFINED IN PRO ENGINEER CAD MODELS/FILES
5. DRAWING AND MODELS COMBINED DEFINE FINISHED MACHINED PART
6. USE LOCTITE TO SECURE THREADED COMPONENTS \
SEE DETAIL 3
5 - (6.85) - G
A <—\
‘ [ \
‘ SEE DETAIL 2
N\ / N /
= - F
|3
‘ (4.43)
REF ‘
5 K@/ -
|/ N\ ' "/
A —-——
SEE DETAIL |
SECTITON  A-A
P <=
— (4.32) —
) D ‘
0 2 SEN405-266P E-RING, EXTERNAL BERYLLIUM COPPER MST6633-0037 15 ‘
RE 4 SEN405-260FP STUD, WELD, 3/8-16 UNC-2A 316L 99 |4
. - | SEN405-264P SCREW, 3/6-16 UNC-2A X [ /4 316l SS AG PLATED 13 C ‘
g f 2 SE1405-263P WASHER, SPERTCAL, CONVEX 3I6L 9SS | 2
2 SEN405-262P PISTON, SPHERICAL, CONCAVE A286 SUPERALLOY N
— 4 SEN405-261P SCREW, SET, 15/16-20 UNEF-2A X 3/8] 316L SS AG PLATED |0 ‘
REF - I 4 SEN405-260P NUT, PIN DRIVE, 3/8-16 UNC-28 | 316L SS AG PLATED 9
‘ 2 SET405-259P WASHER, SPHERICAL, TYPE C A286 SUPERALLOY |DIN 6319 MODIFIED| 8
- |3 SEN405-258P WASHER, BELLEVILLE, 3/4 0D, 3/8 ID| BERYLLIUM COPPER I
] 4 SEN405-251FP WASHER, SPHERICAL, TYPE D 303 S5 ANNEALED DIN 6319 o 4‘
4 SEN405-256FP RIVET, SPECIAL BUTTON HEAD A286 SUPERALLOY ST
2 SET405-255P SCREW, SET, [-20 UNEF-2A X /2 | 316l SS AG PLATED N (e
| SET405-254P BAR, CLAMP, HORIZONTAL 3I6L 9SS 3 2‘
/ 4 SEN405-251P BAR, CLAMP, VERTICAL 316L 99 i I
REF — | SEN405-250P CLAMP ASSEMBLY, 40 TURN | R
- TAIL | - TAIL 3 CAGE PART OR NOMENCLATURE OR ATERIAL | sPECIFIcATIon FIND|'S
3 — SCALE  » _ CODE IDENTIFYING NO DESCRIPTION NO ||l —
SCALE 2 - N
«NEXT ASSEMBLY PARTS LIST A
DETAIL 2 B
SCALE 7
SCALE 1 P AL MITLER [oiros Ot 191 SR of e s
TOLERANCES ORW PAUL MILLER [+13-0] \JT_-BATTELLE u.5 GOVERNMENT contract DE - AC05-000R22725
UNLESS OTHERWISE CHK . ¢ > UT-BATTELLE, LLC. Oak Ridge, Tennessee
SPECIFIED SECT - PROJECT NAME
| | o e T cimat Tt on wirachess 7 W1 DECINALS - 11 G A
MA A HE ACCURACY, MPL N U ULN H XXX DECIMALS + 0051 cR
o, TGS A 1, b s, o N CLAMPZASSEMBLY, 40 TURN
INFRINGE PRIVATE RIGHTS OF OTHERS. WO LIABILITY 15 ASSUMED P [ Dt ronees BREAK SHARP EOGES oc MAX [REO
VI}I{TH RESPECTATO 'ITHE U.S‘i (I)F, 0: FORADAMAG.E‘S :ESULTING FROM - FINISH 125 uniess PPPL DRFT VERSION NO. PLANT BLDG FL SHT OF |TYPE [CLASS
DISCLOSED iN THESE DRAWINGS. ORAWINGS MADE AVAILABLE FOR JIHERISE Srrciriey : 0 X-10 | 5700 | 3 [1 1|Ss|U
INFORMATION TO BIDDER ARE NOT TO BE USED FOR OTHER RELEASE LEVEL REV
, REV DESCRIPTION 8Y |DATE| CHK [DEPT|DATE| PE | REG |DATE[ORNL] DOE [DATE : _
FORRAROTG CONTRACTOR. L0 UPOR REQUEST OF TE REVISION OR ISSUE PURPOSE REVIS1ON APPROVAL DRAWING APPROVALS | DATE WiP SE1405-250P 0

(@)

A P

~



